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SSC TEST  SERIES -5 

Part-I. 

GENERAL INTELLIGENCE AND REASONING 

¼lkekU; cqf)eRrk ,ao rdZ”kfDr½ 

Directions (1–5) : In each of the following questions, select the 

related letter/word/ figure/ number from the given alternatives.  

fuEu iz'uksa esa ls izR;sd iz'u esa fn, fodYiksa esa ls lEcfU/kr 

v{kj@'kCn @vkÑfr@ la[;k dks pqfu,A 

1.  Tiger : India : ? : Afghanistan 

 ck?k % Hkkjr % \ % vQxkfuLrku 

 (A) Dove/Mo (B) Eagle/ckt 

 (C) Snow leopard/fge rsanqvk (D) Deer/fgj.k 

2.  Economics : Adam Smith : : Chemistry : ? 

 vFkZ'kkL= % ,Me fLeFk % % jlk;u 'kkL= % \ 

 (A) G. Mendel/th- esaMy (B) Aristotle/vjLrw 

 (C) L. Pauling/,y- iksfyax (D) A. Lavoisier/,- ysoksft;j 

3.  13 : 1131 : : 29 : ? 

 (A) 2523 (B) 2781 (C) 2391 (D) 2981 

4.  Moccasin : Shoe : : ? : Snake 

 ekWdflu % twrk % % \ % lkai 

 (A) Alligator/?kfM+;ky (B) Aspis/,fLil 

 (C) Waders/oSMlZ (D) Loaf/fudEek 

5.  Feta : Greek : : Provolone : ? 

 QsVk % xzhd % % izksoksyksu % \ 

 (A) Salad/lykn  (B) Swiss/fLol 

 (C) Blue/Cyw  (D) Italian/bVkfy;u 

Directions (6-8) : Find the odd word/letter/ number from 
the given alternatives. 

funsZ'k (6-8) % fn;s x, fodYiksa esa ls fo"ke 'kCn@v{kj@ la[;k 

dks pqfu,A 

6.  (A) Charan Singh/pj.k flag   

 (B) Zail Singh/tSy flag 

 (C) Morarji Desai/eksjkjth nslkbZ  

 (D) V.P. Singh/oh- ih- flag 

7.  (A) David Sheppard/MsfoM 'ksiMZ  

 (B) Ian Botham/b;u ckWFke  

 (C) Geophrey Boycott/tkWQjh C;kW;dV 

 (D) Ian Chappell/b;u pSisy 

8.  (A) Eye/vk¡[k  (B) Hand/gkFk  

 (C) Nose/ukd  (D) Leg/iSj 

9.  I am facing South. I turn right and walk 20 m. Then I 
turn right again and walk 10 m. I turn left and walk 10 

m and then turning right walk 20 m. Then I turn right 
again and walk 60 m. In which direction am I from the 

starting point? 

 esjk eq[k nf{k.k dh rjQ gSA eSa nk,a eqM+rk gw¡ rFkk 20 eh 

pyrk gw¡A eSa fQj ls nk,a eqM+rk gw¡ vkSj 10 eh- pyrk gw¡A eSa 

ck,a eqM+dj 10 eh- pyrk gw¡ rFkk fQj nk,a eqM+dj 20 eh- 

pyrk gw¡A mlds ckn eSa fQj ls nk,a eqM+dj 60 eh- pyrk gw¡A 

eSa vkjafHkd fcUnq ls fdl fn'kk esa gw¡\ 

 (A) North/mÙkj (B) North-West/mÙkj&if'pe 

 (C) East/iwoZ (D) North-East/mÙkj&iwoZ 
10. The positions of the third and tenth letters of the word 

'DOCUMENTATION' are interchanged, and likewise the 

position of the fourth and seventh letters, the second 
and sixth letters, is also interchanged. Which of the 

following will be eleventh letter from the right end? 

 'kCn 'DOCUMENTATION' ds rhljs rFkk nlosa v{kjksa dks 

vkil esa cnyk tkrk gS] iqu% pkSFks rFkk lkrosa v{kj] nwljs rFkk 

NBsa v{kj dks Hkh vkil esa cnyk tkrk gSA fuEu esa ls dkSu 

nkfgus Nksj ls X;kjgoka v{kj gksxk \ 

 (A) C  (B) I  

 (C) T  (D) U  

11. Which one set of letters when sequentially placed at 
the gaps in the given letter series shall complete it? 

 nh xbZ v{kj&Jà[kyk ds [kkyh LFkkuksa ij Øe ls j[kus ij 

fuEufyf[kr esa ls dkSu&lk v{kj&lsV mls iwjk djsxk\ 

 ab _ dab _ cda _ c _ cd _ bcd _ dd 

 (A) cbdbca  (B) cbbcad  

 (C) cdbcbd  (D) cbdbcd 

12.  In first 400 years how many times 29th Feb had 
appeared? 

 igys 400 lkyksa esa 29 Qjojh fdruh ckj vk;k Fkk\ 

 (A) 97  (B) 98  

 (C) 99  (D) 100 

13. A is the son of B. B's sister C has a son D and a 
daughter E. F is the maternal uncle of D. How many 
nephews does F have? 

 A, B dk iq= gSA B dh cgu C dk iq=k D gS rFkk iq=h E gSA 
F, D dk ekek gSA F ds fdrus Hkkatk@Hkrhtk gS\ 

(A) Nil/,d Hkh ugha (B) One/,d 

 (C) Two/nks (D) Three/rhu 

14. The triangle stands for Hindi-speaking people, circle for 
French-speaking, square for English-speaking and 

rectangle for German-speaking people. 

 f=Hkqt fgUnh cksyus okyksa dks] o`Ùk Qzasp cksyus okyksa dks] oxZ 

vaxzsth cksyus okyksa dks rFkk vk;r teZu cksyus okyksa dks 

lacksf/kr djrk gSA 

 
In the above diagram, which one of the following 
statements is not true? 

Åij ds vkd`fr ds vuqlkj fuEufyf[kr esa ls dkSu&lk dFku 

lR; ugha gS\ 
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(A) German-speaking people cannot speak French/teZu 

Hkk"kh yksx Qzasp ugh cksy ldrsA 

(B) No French-speaking people can speak German./dksbZ 

Hkh Qzasp Hkk"kh yksx teZu ugh cksy ldrsA 

 (C) Some Hindi-speaking people can speak French, 

English and German as well/  

  dqN fgUnh Hkk"kh yksx Qzasp vaxzsth rFkk teZu Hkh cksy 

ldrs gSA 

 (D) Some French-speaking people can speak Hindi and 

English but not German./ dqN Qzasp Hkk"kh yksx fgUnh 

rFkk vaxzsth cksy ldrs gS fdUrq teZu ughaA 

15. If 14+2=7, then find the value of 5 5 5 5 5      

 ;fn 14 2 7  rks 5 5 5 5 5      

 (a) 5  (b) 0.024  

 (c) 0.089  (d) None of these   

Directions (16-17): In the given series, some letter/number/digit is 

missing. Choose the appropriate option. 

funsZ'k (16-17): fn, x, vuqØe esa dqN v{kj@la[;k@vad yqIr 

gSA mfpr fodYi dk p;u djsaA 

16.  4, 2, 2, 4, 14, ? 

 (A) 54  (B) 64  

 (C) 68  (D) 52 

17.  3, 9, 29, 61, 185, ? 

 (A) 471  (B) 373  

 (C) 268  (D) 413 

18.  Statement/dFku 

 All apples are brinjals./lHkh lsc cSaxu gSaA 

 All brinjals are ladyfingers./lHkh cSaxu fHkaMh gSaA 

 All ladyfingers are oranges./lHkh fHkaMh larjk gSA 

 Conclusions/fu"d"kZ% 

 I. Some oranges are brinjals/dqN larjk cSaxu gSaA 

 II. All brinjals are apples/lHkh cSaxu lsc gSA 

 III. Some apples are oranges/dqN lsc larjk gSA 

 IV. All ladyfingers are apples/lHkh fHkaMh lsc gSA 

 (A)  None follows/dksbZ vuqlj.k ugha djrkA 

 (B)  All follow/lHkh vuqlj.k djrs gSA 

 (C) Only I and III follows/dsoy I vkSj III vuqlj.k djrk 

gSA 

 (D) Either I or III follows/;k rks I ;k III vuqlj.k djrs gSA 

Directions (19): From the given options choose the missing 

number. 

funsZ'k (19): fn, x, fodYiksa esa ls yqIr la[;k Kkr dhft,A 

19. 

 
 (A) 30  (B) 42  

 (C) 51  (D) 64 

20. Identify the figure that completes the pattern of the 
question figure? 

ml vkÑfr dk p;u djsa tks iz'u vkÑfr ds iSVuZ dks iwjk 

djsxh\ 

 Question figure: 

 
 Answer Figure  

 (a)   (b)   

 (c)   (d)  

21. How many rectangles and hexagons are there in the 
following figure? 

 fuEufyf[kr vkd`fr esa fdrus vk;r rFkk "k"B~Hkqt gSa\ 

 
 (A) 8 rectangles, 3 hexagons/8 vk;r] 3 "k"B~Hkqt 

 (B) 15 rectangles, 3 hexagons/15 vk;r] 3 "k"B~Hkqt 

 (C) 24 rectangles, 5 hexagons/24 vk;r] 5 "k"B~Hkqt 

 (D) 30 rectangles, 5 hexagons/30 vk;r] 5 "k"B~Hkqt 

22. Which of the following figure is the mirror image of the 
question figure? 

 fuEu esa ls dkSu&lh vkd`fr iz'u vkd̀fr dk niZ.k izfrfcEc gS\ 

 Question Figure: 

 
 Answer Figure  

 
                   (a)        (b)        (c)      (d)  

23. If JITENDRA = 16, DHARMENDRA = 40, SHAHRUKH = 
32 then SALMAN = ? 

 ;fn JITENDRA = 16, DHARMENDRA = 40, SHAHRUKH 

= 32 rks SALMAN = ? 

 (A) 14  (B) 12  

 (C) 16  (D) 36 

24. In a die a, b, c and d are written on the adjacent faces 
in a clockwise order, with e and f as the top and 

bottom faces respectively. When c is at the top, what 
will be at the bottom? 

 fdlh ikls esa ?kM+h dh fn'kk esa vklUu lrgksa ij a, b, c rFkk 
d fy[kk gS] lkFk esa e rFkk f Øe'k% 'kh"kZ rFkk ry ds lrg ij 

gSA tc c 'kh"kZ ij gks rks ry ij D;k gksxk\ 

 

 (A) a  (B) b  

 (C) c  (D) e 
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25.  A word is represented by only one set of numbers as 
given in any one of the alternatives. The sets of 
numbers given in the alternatives are represented by 

two classes of letters as in two matrices given below. 

The columns and rows of Matrix-I are numbered from 
0 to 4 and that of Matrix- II are numbered from 5 to 9. 

A letter from these matrices can be represented first by 
its row and next by its column. E.g., ‘B’ can be 

represented by 01, 31 etc., and ‘P’ can be represented 

by 67, 75 etc. Similarly, you have to identify the set for 
the word ‘HIGH’. 

 ,d 'kCn dsoy ,d la[;k&lewg }kjk n'kkZ;k x;k gS] tSlk fd 

fodYiksa esa ls fdlh ,d esa fn;k x;k gSA fodYiksa esa fn, x, 

la[;k&lewg v{kjksa ds nks oxks± }kjk n'kkZ, x, gSa] tSlk fd uhps 

fn, x, nks vkO;wg esa gSA vkO;wg&I ds LraHk vkSj iafDr dh 

la[;k 0 ls 4 nh xbZ gS vkSj vkO;wg&II dh 5 ls 9A bu 

vkO;wgksa ls ,d v{kj dks igys mldh iafDr vkSj ckn esa LraHk 

la[;kvksa }kjk n'kkZ;k tk ldrk gSA mnkgj.k ds fy,] ‘B’ dks 

01, 31 vkfn }kjk n'kkZ;k tk ldrk gS rFkk ‘P’ dks 67, 75 
vkfn }kjk n'kkZ;k tk ldrk gSA fn;s x, 'kCn ‘HIGH’ ds fy, 

lewg dks igpkuuk gSA 

             Matrix –I      Matrix-II 

  
 (A) 02, 67, 76, 24 (B) 23, 66, 41, 76 

 (C) 40, 66, 69, 03 (D) 23, 58, 69, 42 

Part-II. 

QUANTITATIVE APTITUDE 

¼Xkf.krh; vfHk;ksX;rk½ 

26.  The sum of the digits of a two-digit numbers is 13. If 
the digit are reversed, then the number is decreased 

by 45. Find the number. 

 ,d nks vadksa dh la[;k ds vadks dk ;ksx 13 gSaA ;fn vadksa dks 

vkil esa cny fn;k tk,] rks la[;k esa 45 dh deh gks tkrh 

gSaA la[;k Kkr dhft,A 

 (a) 85  (b) 76  

 (c) 49  (d) 94  

27. If the numerator of a fraction in increased by 2 and 
Denominator is increased by 3, then the fraction 
becomes 7/9and if numerator as well as denominator 

are decreased By, 1 then the fraction ? 

 ;fn fdlh fHkUu ds va”k esa 2 c<k fn;k tk, rFkk gj esa 3 dh 

c<ksrjh dh tk, rks fHkUu 7 / 9  gks tkrk gSaA ;fn va”k vkSj gj 

nksuksa esa 1 dh deh dj nh tk,] rks fHkUu 7 / 9   gks tkrk gSA 

;g va”k vkSj gj nksuksa esa 1 dh deh dj nh tk,] rks fHkUu 

4 /5  gks tkrk gSaA ewy fHkUu D;k gSaA 

 (a)13/16  (b) 9/11  

 (c)5/6  (d) 17/21 

28.  Find the greatest number be six digits which on being 
divided, by 6, 7, 7, 8, 9 and 10 leaves 4, 5, 6, 7 and 8 
as remainder respectively. 

 6 vadks dh og cMh ls cMh la[;k Kkr dhft,] ftls 6] 7] 8] 

9 rFkk 10 ls Hkkx nsus ij dze”k% 4] 5] 6] 7 rFkk 8 “ks’k cprk 

gSaA 

 (a) 997920  (b) 997918  

 (c) 998918  (d) 999918  

29.  The incomes of A and B are in the ratio 7 : 2 and their 
expenditures are in the ratio 4 : 1. If each saves Rs. 

1000, then what are their incomes ? 

 A vkSj B dh vk; dk vuqikr 7 % 2 gS rFkk mlds [kpsZa dk 

vuqikr 4 % 1 gSaA ;fn izR;sd :- 1000 dh cpr djrk gSa] rks 

mudh vk; D;k gSaA 

 (a) Rs. 6000, Rs. 21000  (b) Rs. 21000, Rs. 6000 
(c) Rs. 42000, Rs. 12000  (d) Rs. 12,000 Rs. 42000 

30. The average age of a husband and wife was 23 years 
when they were married 5 years ago. The average age 

of the husband, wife and a child who was born during 
the interval, is 20 years now. How did is the child now 

? 

 ifr vkSj iRuh dh 5 o’kZ iwoZ muds “kknh ds le; vkSlr vk;q 

23 o’kZ Fkh] ifr] iRUkh vkSj cPpk] ftldk tUe blh varjky esa 

gqvk] dh vkSlr vk;q vHkh 20 o’kZ gSaA vHkh cPps dh mez fdruh 

gSaA 

 (a) 9 months  (b) 1 years  

 (c) 3 years  (d) 4 years  

31.  A man had Rs. 2000, part of which he lent at 5% and 
the rest at 4%. The whole annual interest was Rs. 92, 
then how much did he lend at 5% ? 

 ,d O;fDRk :- 2000 dk dqN Hkkx 5%  ij rFkk “ks’k 4% ij 

m/kkj nsrk gSaA ;fn dqy okf’kZd C;kt :- 92 gSa] rks mlus 5%  

ij fdruk m/kkj fn;k FkkA 

 (a) Rs. 1200  (b) Rs. 800  

 (c) Rs. 700  (d) Rs. 1300 

32.  A person invested a certain amount at simple interest 
at the rate of 6% per annum earning Rs. 900 as 
interest at the end of three years. Had the interest 

been compounded every year, how much more interest 

would have earned on the same amount with the same 
interest rate after three years ? 

 ,d O;fDr ,d fuf”pr jkf”k] lk/kkj.k C;kt ds 6%  izfr o’kZ 

dh nj ls 3 o’kZ ds fy, fuos”k djus ij :- 900 dekrk gSA 

;fn C;kt izfr o’kZ la;ksftr gksrk gSa] rks mlh jkf”k ij mlh 

nj ls rhu o’kksZa esa fdruk C;kt izkIr gksxkA 

 (a) Rs. 38.13  (b) Rs. 25.33  

 (c) Rs. 55.08  (d) Rs. 35.30 

33. A trader has 44 kg of rice, a part of which he sells at 
26% profit and the rest at 18% less. On the whole his 

loss is 16%. What is the quantity sold at 26% profit 
and that at 18% loss. 

 ,d O;kikjh ds ikl 44 fdxzk- pkoy gSA mldk ,d Hkkx og 

26%  ds ykHk ij csprk gSa rFkk “ks’k Hkkx og 18%  ds gkfu 

ij csprk gSaA dqy feykdj mls 16%  dh gkfu gksrh gSaA 
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fdruh ek=k 26%  ds ykHk ij rFkk fdruh ek=k 18%  ds 

gkfu ij csph xbZA 

 (a) 2 kg, 42 kg   (b) 4 kg, 40 kg  

 (c) 42 kg, 2 kg   (d) 40 kg, 4 kg 

34.  A vessel contains mixture of liquids A and B in the ratio 
3 : 2. When 20 litres of the mixture is taken out and 

replaced by 20 litres of liquid B, then the ratio changes 
to 1 : 4. How many litres of liquid A was there initially 

present in vessel ? 

 ,d crZu esa nzO; A  vkSj B  dk vuqikr 3 % 2 gSaA tc 20 

yhVj feJ.k dks fudkydj mls 20 yhVj nzO; B  ls 

foLFkkfir djrs gS rks vuqikr 1 % 4 gks tkrk gSaA vkjEHk esa nzO; 

A dh ek=k fdruh FkhA 

 (a) 14 litres  (b) 20 litres  

 (c) 18 litres  (d) 30 litres  

35. A man is walking at a speed of 18 km per hour. After 
very km he takes rest for 18 minutes. How much time 

will he takes to cover a distance of 54 km ? 

 ,d O;fDr 18 fdeh@?kaVk dh pky ls pyrk gSaA izR;sd 1 

fdeh ds ckn og 18 feuV dk vkjke djrk gSaa 54 fdeh dh 

nwjh r; djus esa og fdruk le; ysxkA 

 (a) 18 hrs  (b) 18 hrs 54 min  

 (c) 16 hrs 54 min  (d) 19 hrs 5 54 min  

36. A mman travel 400 km in 8 hrs, partly by air and partly 
by train. If he had travelled by the air and the train. If 

he had travelled all the way by air he would have 
saved 4/5 of the time he was in train and would have 

arrived at his destination 4 hours early. Find the ratio 
between distances travelled by the air and the train. 

 ,d O;fDr 400 fdeh dh nwjh dqN gokbZ tgkt ls rFkk dqN 

jsyxkMh ls 8 ?kaVs esa r; djrk gSaA ;fn mlus iwjh nwjh gokbZ 

tgkt ls r; dh gksrh rks ftruh ns jog jsyxkMh esa Fkk 

mldk 4 /5  Hkkx cpk fy;k gksrk rFkk xarO; in 4 ?kaVk igys 

igqWap x;k gksrkA gokbZ tgkt rFkk jsyxkMh }kjk r; dh xbZ 

nwjh dk vuqikr Kkr dhft,A 

 (a) 1 : 3  (b) 3 : 1  

 (c) 2 : 1  (d) 1 : 2 

37. If 
sin(x y) a b tan x

,  then find ?
sin(x y) a b tan y

 
 

 
 

 (a) a/b  (b) b/a  

 (c) ab  (d) a-b/a+b  

38. If 
1

2cos ec y ,  then cot  
y

    is equal to  

 (a) 
1 1 1 1

y 1 y
2 2 2 y

   
     

    
  

 (b) 2

2

1 1 1
y y

2 y y

  
         

  

 (c) 2

2

1 1
y 1

4 y

 
  

 
 

  

 (d) 
1 1

y
2 y

 
  

 
 

39. The speeds of two trains are in the ratio 5 : 9. They are 
going in opposite directions along parallel tracks. If 

each takes 5 seconds to cross a telegraph post. Find 

the time taken by the trains to cross each other 
completely. 

 nks jsyxkfM;ksa dh pky dk vuqikr 5 % 9 gSaA os lekkUrj 160 

ehVj dh nwjh ij fLFkr ,d fcUnq ij dqN fuf”pr dks.k cukr 

gSaA 100 ehVj ehukj dh vksj vxzflr gksus ij vc og igys ls 

nksxquk dks.k cukrh gSA ehukj dh ÅWapkbZ gSa& 

 (a) 3 sec  (b) 5 sec  

 (c) 6 sec  (d) 9 sec  

40.  If x 3 5,   then find the value of 2x 16x 6.   

 (a) 0  (b) – 2  

 (c) 2  (d) 4 

41. If 
b c a c a b

1 and a - b + c  0,
a b c

  
    then 

which one of the following relations is true ? 

 (a) 
1 1 1

c a b
         (b) 

1 1 1

a b c
    

 (c) 
1 1 1

b a c
     (d) 

1 1 1

b a c
   

42. If 
2 2 2x a x b x c

4(a b c),  then x
b c c a a b

  
    

  
 is  

 equal to  

 (a) 
2(a b c) 

   

 (b) 2 2 2a b c    

 (c) ab + bc + ca   

 (d) 2 2 2a b c ab bc ca      

43. The average of marks scored by the students of a class 
is 68. The average of marks of the girls in the clas is 80 
and that of boys is 60. What is the percentage of boys 

in the class ? 

 ,d d{kk ds Nk=ksa dk vkSlr vad 68 gSaA d{kk esa yMfd;ksa dk 

vkSlr vad 80 gS rFkk yMdksa dk 60 gSaA d{kk esa yMds fdrus 

izfr”kr gSaA 

 (a) 40%  (b) 60%  

 (c) 65%  (d) 70% 

44. Two years ago, the value of my motorcycle was Rs. 
52,500. If the value depreciates by 4% every year, 
then now what is its value ?  

 nks o’kZ igys] esjs eksVjlkbfdy dh dher :- 62]500 FkhA ;fn 

dher dk 4% izfro’kZ dh nj ls gzkl gSa] rks mldk orZeku esa 

ewY; Kkr djsaA 

 (a) Rs. 56,700  (b) Rs. 57,600  

 (c) Rs. 57,500  (d) Rs. 55,700 

45. A man is twice as fast as a woman and a woman is 
twice as fast as a boy in doing a work. If a man, a 
woman and a boy together can finish the work in 7 

days, then in how many days a boy will do it alone ? 

 ,d vkneh ,d efgyk ls nksxquk dk;Z dq”ky gS rFkk ,d 

efgyk ,d cPps ls nksxquk dk;Z dk;Zdq”ky gSA ;fn ,d 

vkneh] ,d efgyk rFkk ,d cPpk feydj fdlh dke dks 7 
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fnu esa iwjk dj ldrs gS] rks ,d cPpk vdsys fdrus fnuksa esa 

dke dks iwjk djsxkA 

 (a) 49 days  (b) 7 days  

 (c) 6 days  (d) 42 days  

46. Two sides of parallelpgram are 10 cm and 16 cm. The 

Longest diagonal make 30 angle to the longest side. 

Find the length of the longest diagonal. 

 fdlh lekukarj prqHkqZt dh nks Hkqtk,W adze”k% 10 lseh vkSj 6 

lseh gSaA lcls cMk fod.kZ lcls cMs Hkqtk ds lkFk 30 dk 

dks.k cukrh gSaA lcls cMh fod.kZ dh yEckbZ Kkr dhft,A 

 (a) 5 11   (b) 5 3 11   

 (c) 4 3 11   (d) 4 11   

47. The bag radius  and height of roller are 0.7 cm & 10 cm 

respectively. When it revolves 1200 times then it levels 
only 88%  area. If the cost of leveling is Rs. 2.50/ 

2cm , then find the total cost leveling the whole ground. 

 ,d jksyj dh ÅWapkbZ rFkk vk/kkj f=T;k dze”k% 0-7 lseh rFkk 

10 lseh gSaA tc ;g 1200 ckj ?kwerk gS rks dsoy 88% 

{ks=Qy lery gksrk gSaA ;fn lery djus dh ykxr :- 2-

50@ oxZ lseh gS rks iwjs tehu dks lery cukus esa ykxr Kkr 

djsaA 

 (a) Rs. 110000  (b) Rs. 150000  

 (c) Rs. 180000  (d) Rs.170000 

48. A Swimming pool had 3 drain pipes. The first two 
pipes. The first two pipes A and B operating 
simultaneously can empty the pool in half the time that 

C, the 3rd pipe alone, takes half the time taken by pipe 
B. Together they take 6 hours 40 minutes to empty the 

pool. The time taken by pipe A to empty the pool (in 

hours) is  

 ,d fLofeax iwy esa 3 fudkl ufydk,Wa gSaA igyh nks ufydk,Wa 

A  vkSj B  ,d lkFk dke djrs gq, rhljs ufydk C  ds vk/ks 

le; esa iwy dks [kkyh dj nsrs gSaA ufydk A  vdsys dk;Z 

djrq gq, B ds vk/ks le; esa [kkyh dj nsrk gSaA ufydk A  

}kjk iwy dks [kkyh djus esa fy;k x;k le; ¼?kaVs esa½ gSaA 
 (a) 15  (b) 10  

 (c) 30  (d) 7 

Directions (49-50) : The bar graph chart given below show the 

percentage distribution of the production of various models of a 

mobile manufracturing company in 2007 and 2008. The total 

production in 2007 was 35 lakh mobile phones and in 2008 the 

production was 44 lakh mobile phones. Study the chart and 

answer the following questions.  

uhps fn, x, ckj&pkVZ 2007 vkSj 2008 esa ,d eksckby daiuh ds 

fuekZ.k ds fofHkUu ekWMyksa ds mRiknu dk i zfr”kr forj.k n”kkZrk gSaA 

2007 esa dqy 35 yk[k eksckby Qksuksa rFkk 2008 esa 44 yk[k 

eksckby Qksuksa dk mRiknu gqvkA pkVZ dk v/;;u djds                                                                                                                                                            

fuEufyf[kr iz”uksa ds mRrj nsa& 

Percentage of six different types of mobiles  manufactured by a 

company over two years. 

,d dEiuh }kjk nks o’kksZa esa fufeZr 6 fofHkUu izdkj ds eksckbyksa dk 

izfr”kr gSaA 

 

49. What was the total number of mobiles of models A, B 
and E manufactured in 2007 ? 

 2007 esa fufeZr A,B rFkk E  izdkj ds dqy eksckbyksa dh la[;k 

D;k FkhA 

 (a) 24,50,000  (b) 22,75,000  

 (c) 21,00,000  (d) 19,25,000 

50. What was the difference in the number of type B 
mobiles produced in 2007 and 2008 ? 

 2007 rFkk 2008 esa mRikfnr B  izdkj ds eksckby ds la[;k esa 

fdruk varj FkkA 

 (a) 2,55,000  (b) 2,70,000  

 (c) 2,25,000   (d) 1,75,000 

Part-III. 

GENERAL AWARENESS 

¼LkkekU; tkudkjh½ 

51.  Who invented CT scan ? 

 lhVh LdSu dk vkfo"dkj fdlus fd;k \ 

 (A) Thomas Alva Edison/FkkWel vYok ,Mhlu 

 (B) Charles H. Townes/pkYlZ ,p VksUl 

 (C) Hounsfield/gklsa QhYM 

 (D) Louis pasteur/yqbZl ik'pj 

52. Which of the following organelles of a cell is/are 
involved in Photosynthesis ? 

 fuEu esa ls dkSu&lk dksf'kdk dk ,d vax gS tks izdk'k 

la'ys"k.k esa 'kkfey gS\ 

 (A) Choloroplast/DyksjksIykLV 

 (B) Mitochondria/ekbVksdkWfUMª;k 

 (C) Endoplasmic reticulum/,aMkIsykfLed tkfydk 

 (D) Golgi bodies/xksYTkh fudk; 

 53. What is the wavelength of vissible spectrum? 

 n`'; LiSDVªe dh rjaxnSè;Z fdruh gS \ 

 (A) 1300 Å - 3000Å  (B) 3900 Å - 7600Å 

 (C) 7800 Å - 8000Å  (D) 8500Å - 9800Å 

 54. National Income can be calculated in all except one of 
the following ways :- 

 jk"Vªh; vk; dk ifjdyu fuEufyf[kr es a ls ,d dks NksMdj 

ckdh lHkh rjhdksa ls fd;k tk ldrk gS %& 

 (A) Sum of all saving/lHkh izdkj ds cpr dk ;ksx 

 (B) Sum of all incomes/lHkh izdkj dh vk; dk ;ksx 
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 (C) Sum of all outputs/lHkh izdkj ds fuxZrksa dk ;ksx  

 (D) Sum of all expenditures/lHkh O;;ksa dk ;ksx 

55. Which day is celebrated as Doctor's Day ? 

 MkWDVj fnol fdl fnu euk;k tkrk gS \ 

 (A) 3rd Sunday of June (B) 27th June/twu 

 (C) 1st July/tqykbZ (D) 11th July/tqykbZ 

56. Ohm's Law definesvkse dk fu;e ifjHkkf"kr djrk gS 

 (A) resistance/izfrjks/k 

 (B) current only/dsoy /kkjk 

 (C) voltage only/dsoy oksYVrk 

 (D) Both current and voltage//kkjk vkSj oksYVrk nksuksa 

57. Match the dams and the river across which following 
have been constructed 

 Ckak/ks vkSj ufn;ksa dk esy fdhft,  dhft, ftu ij fuEu ckè¡k 

cuk, x, gSa 

Dam/ ck¡/k River/unh 

a. Gandhi Sagar (1) Bhagirathi/ xk¡/kh lkxj 

HkkxhjFkh 

b. Jayakwadi/tk;dokM+h (2) Krishna/ Ñ".kk 

c. Nagarjuna/ukxktqZu (3) Godavri/ xksnkojh 

d. Tehri/ Vgsjh (4) Chambal/ pEcy 

 (A) a - (4) b - (3) c - (2) d - (1) 

 (B) a - (3) b - (1) c - (4) d - (2) 

(C) a - (2) b - (4) c - (3) d - (1) 

 (D) a - (4) b - (2) c - (1) d - (3) 

58. ‘‘The Right to Public Office’’ is a :- 

 lkoZtfud in dks ikus dk vf/kdkj gS %& 

 (A) Civil Right/ukxfjd vf/kdkj 

 (B) Economic Right/vk£Fkd vf/dkj 

 (C) Moral Right/uSfrd vf/kdkj 

 (D) Political Right/jktuhfrd vf/kdkj 

59. Which of the following industries is the major 
beneficiaries of the Mumbai Port ? 

 fuEufyf[kr esa ls dkSu&ls m|ksx eqEcbZ canjxkg dk ykHk lcls 

izeq[k ykHkkFkhZ gS \ 

 (A)  Iron and steel Industry/yksgk vkSj bLikr m|ksx 

 (B)  Sugar and cotton textile Industry/phuh vkSj lwrh 

oL=k m|ksx 

 (C)  Cotton textile and Petrochemical Industry/lwrh oL=k 

vkSj isVªks&jlk;u m|ksx 

 (D) Engineering and fertilizer industry/ bathfu;fjax vkSj 

moZjd m|ksx 

60.  Interest on Public debt is part of ? 

 lkoZtfud J.k ij C;kt fdldk Hkkx gS \ 

 (A) Transfer payment by the enterprises/m|fe;ksa }kjk 

varj.k&Hkqxrku 

 (B) Transfer payment by the government/ljdkj }kjk 

varj.k&Hkqxrku 

 (C) National income/jk"Vªh; vk; 

 (D) Interest payment house - holds/ifjokjkas }kjk C;kt 

Hkqxrku 

61. Producer gas is a mixture of 

 izksM~;wlj xSl feJ.k gS& 

 (A) Carbon dioxide and Hydrogen/dkcZu MkbZ&vkWDlkbM 

rFkk gkbMªkstu 

 (B) Nitrogen and Argon/ukbVªkstu rFkk vkxZu 

 (C) Oxygen and Nitrogen/vkWDlhtu rFkk ukbVªkstu 

 (D) Carbon monoxide and Nitrogen/dkcZu eksuksvkDlkbM 

rFkk ukbVªkstu 

62. The long range potential of nuclear energy in India 
depends on its reserves of 

 Hkkjr esa ijek.kq ÅtkZ dh nh?kZdkyhu laHkkouk ns'k esa fdlds 

HkaMkjksa ij fuHkZj djrh gS \ 

 (A) Thorium/Fkksfj;e (B) Uranium/;wjsfu;e 

 (C) Plutonium/IywVksfu;e (D) Radium/jsfM;e 

63. The type of note issueing system followed in India is 

 Hkkjr esa uksV tkjh djus dh dkSu&lh iz.kkyh viukbZ xbZ gS\ 

 (A) Maximum fiduciary system/vf/kdre izR;;h iz.kkyh 

 (B) Minimum reserve system/U;wure vkj{k.k iz.kkyh 

 (C) Proportional fiduciary system/vkuqikfrd izR;;h iz.kkyh 

 (D) fixed fiduciary system/ fu;r izR;;h iz.kkyh  

64. Berne Convention is most closely related to ___? 

 cuZ dUosa'ku fdlls lacaf/kr gS \ 

 (A) Trade Related Measures/O;kikj lacaf/kr mik;ksa 

 (B) Copyright/dkWihjkbZV 

 (C) Agricultural Market/Ñf"k cktkj 

 (D) Global Warming/Xykscy okfeaZx 

65. The crop mainly grown in hills is igkM+ksa ij mxkbZ tkus 

okyh eq[; iQly dkSu&lh gS \ 

 (A) Sweet corn/ ehBh edbZ (B) Sweet Jowar/ehBk Tokj 

 (C) Sweet Potato/'kdjdanh (D) Sweet Pea/eVj 

66. Galvanised iron is made by coating iron with? 

 xSYosukbTM yksgk cukus ds fy, yksgs ij fdldk ysi fd;k 

tkrk gS\ 

 (A) Zinc/ftad dk (B) Nickel/fudsy dk 

 (C) Chromium/Øksfe;e dk (D) Sulphur/lYiQj dk 

67. What is used to identify whether a data wordhas an  
odd or even number of 1's ? 

 MkVk oMZ ds 1 dh la[;k le ;k fo"k; gS] ;g Kkr djus ds 

fy, fdldk iz;ksx fd;k tkrk gS \ 

 (A) Carry bit/dSjh fcV (B) Parity bit/iSfjVh fcV 

 (C) Zero bit/thjks fcV (D) Sign bit/lkbu fiQV 

68. Vernal Eqinox occurs on olardkyhu fo"kqo dc gksrk gS \ 

 (A) 21 february/21 Qjojh (B) 22 June/22 twu 

 (C) 21 March/21ekpZ (D) 21 June/21 twu 

69. Bad Loans in banking terminology are generally known 
as. 

 cSafdx Hkk"kk esa [kjkc dtZ dks lkekU;r% dgrs gSa %& 

 (A) CBS  (B) PLR 

 (C) NPA  (D) CRR 

70. Basic problems of an economy is/are vFkZO;oLFkk dh ewy 

leL;k,¡ D;k gS \ 
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 (A) Decide as to what, how and for whom to 

produce.D;k] dSls vkSj fdlds fy, mRiknu ds ckjs esa 

fu.kZ; djuk 

 (B) Elimination of povety and reduction of inequalities 

of income and wealth fu/kZurk dk mUewyu vkSj vk; 

,oa laink dh fo"kerkvksa dks de djuk 

 (C) Providing Social Security and employment to all.lHkh 

dks lkekftd lqj{kk ,oa jkstxkj miyC/k djkuk 

 (D) Providing basic requirment of life to all lHkh dks 

thou dh vko';drk,¡ miyC/k djkuk 

71. Cement is a mixture of lhesVa fdldk feJ.k gS\ 

 (i) Calcium aluminates/dSfY'k;e ,yqfeusV 

 (ii) Gypsum/ftIle 

 (iii)Calcium Silicates/dSfY'k;e flfydsV 

 (iv) Sodium Carbonate/lksfM;e dkscksZusV 

 Select the correct answerlgh mÙkj pqfu, 

 (A) (ii) and (iv)  (B) (i) and (ii) 

 (C) (i), (ii) and (iii)  (D) (ii), (iii), (iv) 

72. Operation Kachhapa is an NGO intiative for the 
conservation of vkijs'ku dPNi fdlds laj{k.k ds fy, 

NGO dh ,d igy gS \ 

 (A) Hawksbill turtles/gkDlfcy dPNi 

 (B) Green turtles/gfjr dPNi 

 (C) Olive Ridley sea turles/vkWfyo fjMys leqnzh dPNi 

 (D) Leatherback turtles/yksFkjcd dPNi 

73. ‘Willow’ for a cricket bat is obtained from fØdsV cSV ds 

fy, ^foyks* dgka ls izkIr gksrk gS \ 

 (A) Tropical forest/m".k dfVca/kh; ou 

 (B) Rain forests/o"kkZ ou 

 (C) Deciduous forest/ir>M+h ou 

 (D) Coniferous forest/'kadqo`{kh ou 

74. Which was the first state to go to polls under the 
Delimitation ? 

 og dkSu&lk igyk jkT; gS tgk¡a ifjlheu ds varxZr ernku 

djk;k x;k \ 

(A) Andhra Pradesh/ vkU/kz izns'k 

 (B) Tamil Nadu/rfeyukMq 

 (C) Kerala/dsjy 

 (D) Karnataka/dukZVd 

75. Which vein brings clean blood from the lungs into the 
heart ? 

 dkSu&lh f'kjk QsQM+ksa ls ân; esa 'kq) jDr ykrh gS \ 

 (A) Renal Vein/o`Ddh; f'kjk 

 (B) Vena cava/egkf'kjk 

 (C) Pulmonary Vein/QqQql f'kjk 

 (D) Hepatic vein/;Ñr f'kjk 

Part-III. 

GENERAL AWARENESS 

¼vaxzsth Hkk’kk½ 
DIRECTIONS (76-78): In the following three Questions four 

alternatives are given for the Idiom/Phrase underlined in the 

sentence. Choose the alternative which best expresses the meaning 

of the Idiom\Phrase and mark it in the Answer Sheet. 

76.  At his wit's end, he turned to his old trade. 

 (a) After careful thinking   

 (b) Confidently 

 (c) Not knowing what to do   

 (d) Overjoyed 

77. He usually goes to bed very early and rises with the 
lark. 

 (a) very late  (b) very early  

 (c) after sunrise  (d) at midnight 

78.  The day the new product was launched, people made 
a beeline to purchase it. 

 (a) rushed  (b) were doubtful  

 (c) refused  (d) went online 

DIRECTIONS (79-83): In the following Five Questions, a 

sentence /a part of the sentence is underlined. Below are given 

alternatives to the underlined part which may improve the 

sentence. Choose the correct alternative. In case no improvement 

is needed blacken the circle [•]corresponding to "No 

improvement". 

79.  Drinking tea is an English habit. 

 (a) tradition  (b) convention  

 (c) custom  (d) No improvement 

80.  He is wanting in a little common sense. 

 (a) lacks  (b) is lacking in  

 (c) needs some  (d) No improvement 

81.  The old man has acquired experience through age. 

 (a) developed experience   (b) experienced 

 (c) got experience   (d) No improvement 

82.  He lives far from the station. 

 (a) away from the station 

 (b) a long way from the station 

 (c) off the station 

 (d) N o improvement 

83. They spoke about the weather. 

 (a) said  (b) talked  

 (c) expressed  (d) No improvement 

DIRECTIONS 84-86. In the following THREE Questions, out of 

the four alternatives, choose the one which can be substituted for 

the given words/sentences and indicate it by blackening the 

appropriate circle [•] in the Answer Sheet  

84. A recurrent Compulsive urge to steal. 

 (a) Pneumonia  (b) Insomnia  

 (c) Nymphomania  (d) Kleptomania 

85. Medical Study of skin and its diseases. 

 (a) Dermatology  (b) Endocrinology 

 (c) Gynaecology  (d) Orthopaedics 

86. A process involving too much official formality. 

 (a) Diplomacy  (c) Bureaucracy  

 (c) Red–tapism (d) Nepotism 
DIRECTIONS 87: In the following Question, four words are 

given each question, out of which only one word is correctly spelt. 
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Find the correctly spelt word and mark your answer, in the Answer 

Sheet. 

87. (a) Acquariam  (b) Aquarium  

 (c) Acquerium  (d) Aquarim 
DIRECTIONS (88-92): In the following Five Questions, you have 

two passages with 5 questions following each passage. Read the 

passages carefully and choose the best answer to each question out 

of the four alternatives and mark it by blackening the appropriate 

circle [•] in the Answer Sheet. 

PASSAGE–I 

The instinctive, natural way to express anger is to respond 

aggressively. Anger is a natural, adaptive response to 

threats; It inspires powerful, often aggressive, feelings and 
behaviours, which allow us to fight and to defend ourselves 

when we are attacked. On the other hand, we can't 

physically lash out at every person or object that irritates or 
annoys us; laws, social norms and common sense place 

limits on how far our anger can take us. People use a 
variety of both conscious and unconscious processes to 

deal with there angry feelings. The three main approaches 
are expressing, suppressing and calming. Expressing your 

angry feelings in an assertive – not aggressive manner is 

the healthiest way to express anger. Being assertive 
doesn't ' mean being 'pushy or demanding; It means being 

respectful of yourself and others. Anger can be suppressed 
and then converted or redirected. This happens when you 

hold in your anger, stop thinking about it and focus on 

something positive.  

88. How does a person naturally express anger? 

 (a) By inspiring powerful feelings 

 (b) By responding aggressively 

 (c) By defending oneself 

 (d) By adapting strong behaviour. 

89.  Which one of the following places limits on how far we 
can take our anger? 

 (a) Behaviour  (b) Feelings  

 (c) Instinct  (d) Law 
90.  According to the author, how should people deal with 

their anger? 
 (a) Express it assertively  

 (b) Express it aggressively 
 (c) Expressing consciously   

 (d) Expressing unconsciously 

91.  What does the author mean by being assertive? 
 (a) Being pushy  (b) Being demanding 

 (c) Being respectful  (d) Being calm 

92. How, accordmg to the author, can one suppress anger 

? 

 (a) By holding one's anger 

 (b) By thinking about one's anger 

 (c) By converting anger 

 (d) By redirecting anger 
DIRECTIONS (93-95) : In the following Five Questions, some 

parts of the sentences have errors and some are correct.Find out 

which part of a sentence has an error and blacken the circle [•] 

corresponding to the appropriate correct option. If a sentence is 

free from error, blacken the circle [•] corresponding to "No Error" 

in the Answer Sheet. 

93. I really do regret not to learn to play the violin when I 
had so many opportunities to learn the practice in 

school. 

 (a) I really do regret not to learn to play the violin. 

 (b) when I had so many opportunities 

 (c) to learn and practice in school. 

 (d) No error 

94. The government granted relief payments of Rs. 5,000 

each to those who injured in the fire accident. 

 (a) The government granted 

 (b) relief payments of `5,000 each 

 (c) to those who injured in the fire accident. 

 (d) No error 
95. Everyone of us should realize that any act of 

negligence will cause a great harm to our country's 

security.  
 (a) Everyone of us should realize that 

 (b) any act of negligence will cause 
 (c) a great harm to our country's security 

 (d) No error 
DIRECTIONS (96-97): In the following Two Questions, 

sentences given with blanks to be filled in with an appropriate 

word(s). Four alternatives are suggested for each questton. Choose 

the correct alternative out of the four and indicate it by blackening 

the appropriate circle [•] in the Answer Sheet.  

96. Making pies and cakes _____ Mrs. Reddy's speciality. 
 (a) are  (b) were  

 (c) is  (d) has 

97. The deserted garden was infested ________ weeds. 
 (a) for  (b) into  

 (c) on  (d) with 
DIRECTIONS (98-99) : In the following Two Questions, out of 

the four alternatives, choose the one which best expressesthe 

meaning of the given word and mark it in the Answer Sheet. 

98. Predilection 

 (a) Favour  (b) Whim  

 (c) Prejudice  (d) Preference 
99. Effigy 

 (a) Dummy  (b) Imagery  
 (c) Reflection  (d) Organ 
DIRECTIONS (100): In the following Question, choose the word 

opposite in meaning to the given word and mark it in the answer 

sheet. 

100. Disconsolate 

 (a) Joyous  (b) Thankful  
 (c) Unprejudiced  (d) Prominent 
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